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I implemented the distributed application version VNC that can be connected to a tree-
type of each clients, to relay the data parent is delivered (TreeVNC). it is designed the
load is concentrated on the distributor in the usual VNC. for example, when performing
screen sharing using VNC in lectures, load on the distributor would increase in proportion
to the increase of the client. To solve this problem, it was to have a scalability and the
child is allowed to connect the client to the tree structure, send data from the server
to the client. The service with scalability refers to a service that can be used not come
sacrificing quality of the service user may be increased. As a result of using TreeVNC,
it could be used without reducing the throughput suppress the load on the server side
can also increase the number of clients. Further, if it is to be switched by one button
presenter, you have a multi-display, we also extended the UserInterface receiving the data
of the display so that one possible.
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private synchronized void replyCreateTree(PrintStream os, String line) throws
InterruptedException {
Is.add(line);
parentnum = (nodeCounter — 1) / treebranch;
request = ls.get(parentnum);
outputStream(os, request, String.valueOf(parentnum), String.valueOf(nodeCounter));

\V]

~N O O W

gboobbooboobboobooboo 12




@DDDDDDDDDDD(DD) 030 00000000 TreeVNCODOO

3.3 Uouoooood

vNCOOoOoOooooooboooooobobooooooboboooooooo
goobodgbobuoobbooboobobooboobbooboooboobobon
gbbooooboboobuoobbodboobbboobboobooobuoobobod
O0oooboooobooboobo0bobooobOo0obUnU Root NodeO DD OOOO
gbooboobobobobobobobobobobobobobuobobdbUibRoot
NodeOOOOOOODOOOONodeDOOOOODOOODOOOODOOOOO (O 3.5)0

S : VNC Server
R : Root Node
N : Node )

NS : Next VNC Server

g 35 0bobouggoon

O00bO0DbOob00ob0Ob0o0b0obDOoboo0obU0bDdgbOOdRoot NodeOODOOOOO
gbopO00000000ODOODOODO0OO00OO00O000D00O0DbDOONodeIODoOQ
O000000000000000 Root NodeOODODOODOOOODODODOODOODOODO
OO0 Root NodeUODUOODOOODOODODOODODOODODOODOOO

gboobbooboobboobooboo 13



@DDDDDDDDDDD(DD) 030 00000000 TreeVNCODOO

3.4 U0O0UOUOOOOOOOoOn

ooboobooobooboooovNCcODbOoOooobooooboboboooobooog
gbbodbbogoobooboobobuoobbobooobuooobooboboon
gobbuooobbbooobbbooobboooobbuooobbbuooobboo
gbogoboobuodbboobboobuoobbooboobobuoobboobbon
gobbooogbobobodgo

3.5 OO0

gbobobooobobobodb NedeUDOODOOoOooobobobooboo
gobboooobbbuoodgbobboooobbobn

1.0000000 (DODD0ODO0OO00O000)00D0D0DD0DO0D0O00 Root NodeO OO
gobooood

2. Root NodeOODOOOODOOOOOOODODODO Node(DOO Node)OOOOOODO
gbob oodobbbooodoobobo

3. Root Node OO DO UODOUODOO NodeUDOODOO NodeOOODOODOODODOO

4. Root Node Node OO O DOOOOOODOODOODOODOODOODOOOOOODOO
goooo

5. UDUDDOUODUUODODRoot NodeODODODOODOODODODOODUODDOODO
goboooaoo

gobboooobbbuoodobbbooaon

gboobbooboobboobooboo 14



@DDDDDDDDDDD(DD) 030 00000000 TreeVNCODOO

g3etdubbuoodbbugoboboobboobbuooobbuogobuooobod
gobooo

3 : listUpdate()

Server -7

1 : lostHost()

:. Client2
\ <.

\
1
1
1

Proxy

Client3

Client4

Client5

Client6

g 36 000ooggn

LlostHost(): 0O ODOODOOOOOO0OOOODOOOOO

2:reportLastNode():0 0000000 (0D0OD0O0OD)00000O00O0O0OOO0ODOO
gbooobooboob

3:listUpdate():Root NodeO OO Node OO ODOODOOOOOOOOODO (DODODOOO
O000O000000ooooooooOooooooo)o

4:waitReply.start():Node O waitReply OO0 0000 main0 00000000000

O0000000000000 Root NodeUDODOUODODOO Node Root Node O [
gboobooboobood

gboobbooboobboobooboo 15



Sooooooooo0oo (oo)

030 00000000 TreeVNCODOO

Server
6 : replyChildlen()___ - - - Proxy

1
1
1
1
\

Client1 / ‘ Cllent2 |
. 6 : replyChildlen()

\‘ 7 . feConnection() ’
\

’
’

\

) N <
‘ Client3 | ‘ Client4 |

‘ Client5 |

U3 obooboogn

6:replyChildlen() 0000000000000 0O0ODOOOO0OOOOOOODOOOO
god

7:reConnection() J Root Node 00 OO O OOOOO VNCOOOOODOOOOOO
000000000000 NedeODOOODODODODOOOOOOOODOODO

gboobbooboobboobooboo

16



@DDDDDDDDDDD(DD) 030 00000000 TreeVNCODOO

3.6 MulticastQueue

D000000000000000 NodeOOODOOODODOODOODDODOODODOO
0000000000000 0ooooooooooooooooooooooooo
0000000000000 CountDownLatch O 0O O O MultiCastQueue O 0 0O OO O

count=3
3
) 3 .
awai) awaiting
T 2 b --_ > awaitin
countDown() ) ]
T | > awaiting
countDown() )
O F------ > active

O 3.8: CountDownLatch

java.util.concurrent.CountDownLatch 0 javaO O 0D 000000 APIODDOODODO
0000000000000 000O0O00D0000o00oo0ooooooooOoon
00000000000 (0000000ooooooooooooooDooO)ooooOo
CountDownLatch OO OO0 O0O0OOcountDown 0000000000 OO0OODOOOO
O0000D00await 00000 cowntbown OO0 00000000 ODO00O0ODOODOODO
000000000000 DO00DO000b0000ddcountbwon 0000 OOODOO
00000 await 0000000000000 0O0O0O0O00O0O (O 3.8)0 MulticastQueue
OQuene 000000000 O0OD0ODOpwtO0ODOODOODOOOODOO quened OO
OO000000 put0000 CountDownLatch OO 00000000 OpollDDOOOODO
0000000000000 DO0000DO0D0O00OpolO00O0OD00OO awaitO O OO0
000000 put0 0000000000000 0O00O0O0O0O0O(DO 3.9)
0000000 pwt0000000O0ODDOOOOOOOOODO(D 3.10)
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MulticastQueue

put()

RootNode

0 3.9: MulticastQueue(D OO0 O DO0OODODOO)

MulticastQueue

RootNode READER

0 3.10: MulticastQueue(D0 0O 000000000 DOOODOOO)
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m Root Node
Suspend

Memory of Root Node

0 3.11: NodeODOODOODOO Root Node DD DO ODOOOOODODOODOOODOODOODO
gooboogo

TimeOut Root Node

Memory of Root Node

O 3.12: TmeOwt OO OO OOOOOODOODO

3.6.1 TimeOut

MultiCastQuene U OO0 D OO0 O00ODOOO0OOODOODOOOOODOOOOODOODOOO
NodeOODOODODOOOODODODOOOODOODOODOODOODOODODOO Root Node' O
gbogobodbogbboobuoboobbboobbobbooboobbod
O0000000O000oO00bObO00DOOo0o0oDO0o0obDbOO0D 3.110000TimeOut
OO0000 NodeODOOOODOOODOOODOODOOMulticastQueue D OO O DOOOMO
0000 Root Node DO DO OODODODDOOOOODOOOOOO(O 3.12)

Ooo0obooboooboobobooooooobobooooooDOon TimeOut OO
O000000000TimeOutODOOODOO0ODOOODODOODO NodeOOOOODOOODO
goooo
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3.7 OOoOOO

VNCOUOORFBUOODODOOOOOOODODDODOOODOODOOOOD10OOOO
ZRLE(Zlib Run-Length Encoding) 00O OZRLEO ZibOOOOOOOOOOOOOO
gooOoOoOOo0o0oOoOo0oooooOooboboboOoOooOziboooooobobooDooooo
0000000000000 000000000O0O0000oooOoo javaautil.zip.deflater
O java.util.zip.inflater O OO0 000 OO

3.7.1 java.util.zip.deflater OO0 0O 0O O[O

Zib0O0O0o0o0ooo0oboobooboooboooboobooobooooDooobDooo
(0 3.13)0 000 O java.util.zip.deflater 0 000 0000000000000 (flush) O
ooboobooooooobooobooboobooobooozibb0obOoooDOoOoO
O000000000000000000000o0ooOoOoDoO0 (O 3.14)0

ZRLE(gzip)
I I
DATA l DATA l DATA

ZRLET—% % #1OHh 5.3

DATA | DATA | DATA

dictDT—5 ZRITWBENTE S

0 3.13: ZRLE

3.7.2 ZRLEE

OO000ORoot Node ZRLEOOOOOODOOODO wnzipdODOOOO zipOOOOO4d
00 finish() OOOO0O000O0O0O0O000O0OD0OO0OO0O0DOOOOO0OOODOOOOOODOO
(D0DD0DDOO0O0O0O0O0O0O0OO0OCOOOD)O(D 3.15) 00000000 ZRLEEDDOOOOO
000000 ZRLEEOODDOOOODDODOOODDOOOOO0OODODODOODODOOOODOOOO0
000000000 Root NodeOODDOOOOOOODODODODOOO deflater,inflater O O O
0000000000000 00000D0000O0DO00Root NodeD NodeO O OOO
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ZRLE(gzip)
DATA DATA

v

l DATA

ZRLET— 5 ZZRH 5% S

DATA

l DATA

dictD 7 —4% =R (TEZENTE AL

0 3.14: ZRLE2

0000000000 (NodeODO inflater 00 )0 0O0OZRLEEO Node OO DO DODODOO
gbooboboboboobooodg

ZRLE(gzip)

DATA

+ZRLEE

DATA

DATA

v

<P

DATA

v

DATA

0 3.15: ZRLEE

gboobbooboobboobooboo

DATA

BRUCEMULETY

v

DATA

BREHOSEBULTHHENH D

DATA
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3.73 0OD0OOOO0OO0OoOoOad

Node I Root Node OO O OOOORoot Node IPOODOOOOODOOOODODOOO
IPO0O0O0OOODOO0OO0ODOODOOO0OOO0ODOODOO000DOOO0O00OO0DODOOO0O0
O000ONodeOODODODOOODOOOODDOO TreeVNCO Root NodeO OO OOIPOO
0000000000000 0000b000b0000o0oo0o0DoooooooDoOon
oooooad
TreeVNC O Root Node DO OOOOOOOBroadcast D OO0 O0OOOOOOOODODOO
Ooooooon

gboobbooboobboobooboo 22



040 00000000 TreeVNCU
HRN

4.1 TightvNCUOODODUOUOODOOOOO

TightvNCOODOOUODOOUODOOoODOOooOoooooboooooobooooooo
0000000000000 000 TreeVNCOOOODOOODOODOO
gbbogbogobuobbobuoobbuoboooobboobobboobood
gboooboon
gbobbobobooboooooon VersionU 1xOD0 2x0000000000000
gbgobobbobbooboobod
gbbgboobobuoguoboobooobooooboboobboobboobon
Oo0ooDOooO0oDOoO0oooooOb0o0o0oooDoObo0oOoDOOoDOO TightVNC
OO0000O0O0ObO0oO TreeVNCOODODODODODOOODODODOODODODOODOODOOODO
gbobogoboooobbooobobbooobbobooobboobboooon
gbgbobooobooboboooboobboobbooboobbuoobood
gbooobooboon

4.2 UIOUOUO

gbobbooogbbbuooobbbuooobbboooobbbooooboo

4.2.1 0O0000O0OO0OO0OOOOOOO

vNCOOOOOOoDOOoboobooooobobooooooboboboooooooo
gbbodgbobbodbbooboobbuoouobbbbooboobbooood
goboboooobobodad
gbooobogbbobuoobboobobbuoobobboobooboboobood
gbbodbboooooboobobboobooobobuoobobuoobbooboon
gobbooogbbbuoooobbboooobon

RFBOOOOOO OO FramebufferUpdate D 000000000000 O0O0DOOOO
gooo
FrameBufferUpdate 000 0O (O 4.1,0 42) 0000
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0 4.1: FramebufferUpdate

ooog | O 00
U8 message-type
U8 padding
U16 | number-of-rectangles

0000 number-of-rectangles 0 0 0000000000000 000OO0O0OO (O 4.2)
oooo

0 4.2: FramebufferUpdate

oooo | O go
2 U16 X-position
2 U16 y-position
2 U16 width
2 U16 height
4 S32 | encoding-type

O0000 header 00 OO0OOO0ODOO0OODODOODODODOOOO x-positiond y-
position[] widthO height 00 DO 00D 0OOOO0O0O0OO0OOODOOOOOOOOO
header U0 DO O0OOOOOODOOODOOODOOODOOO
gboobdb ZRLEODOOOOOoOOLbOobobobbob4b0b00bO0obOobOobDO
O0000000000000 zlibbataDOOODOO (O 4.3)0

0 4.3: ZRLEO OO

gogg 0 0o
4 U32 length
length | U8 array | zlibData

000000 zibData0 00 0000000000000 DODODODOOG4*6400000
goboboooobbodd
gobbgogbobogbbooboooboobboobbooboobobbooba
goddogggoobbbooboboboobotbouogoooooooooooooooon
gooo
0430000000000D0000000O0O 430000 FramebufferUpdate D OO O
gobobooooon
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1920 1280

880
1080

0 41: 0000000000 0O0O0OO UpdateRectangle

000000000 0OFramebufferUpdate0 0 000 O OO header 0 O O O Ox-position
gboobobobobooobouoobooboobUobobobooboooboobo
000004300000 000000000000Ox-positiond 19200000000
goboboooobbbooob 12o00obobboooobboooobbbooon
O0o0oboobon
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040 0OO0OOOOCOOO TreeVNCODOO

4.2.2 O000O0OOO0OOOO

OoboboogoboooobobovNCOOOOobooboooobooooboo
gobboboogoobbbooooobo
gboooboobobo420000

3: acceptConnection()

5: newServer()

10.*

Serverz10.45510.3ICIDEZ 3K

Clients

: CloseConnection()

—_—
NextVNCServer
port: 10002
10.3:5900 ¢

2: requestVNC()

Proxy : ClassO

1: changeVNCServer("10.3")

—_—
VNCServer
port: 10001
10.4:5900
BEmZYDEZISZA
10.2

042 000000000

042000000000000000440000

gboobbooboobboobooboo
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044 000000000

HEN

|oo

changeVNCServer(”10.3”)

gbbbuoogbobbbooobbobuoooobbod
gooo

request VNC()

changeVNCServer() D000 000000000000
gbooobogg

acceptConnection()

Root Node OO D OOOODOODOOOODOODOO
OO00000D0000 Root NodeOODODODOODO

CloseConnection/() gbbboogbobbboooobbbuoooobbod
goo
newServer|() NodeUOODOOOOOOOODODODODOOOODO

OO0 NodeODOODOODOOOOOOODOODODOOO

newServer() 0 000000 Listingd. 10000000 0ORoot NodeDOOOODOOOO
gobbbuogoobbbooobbobbooogooobogg
cientList 00 00000000000 OO0ODOO0ODOODOODOODOOOOOOOOOOO
OO0 TCpOODODOOODOODOODODODOODODODODODODbDDOODOO

Listing 4.1: DOUOD0OUOO0OOO0OOODOOOOOOOOOO

os.close();

1| for (String client : clientList) {

2 Socket echoSocket = new Socket(client, 10001);

3 DataOutputStream os = new DataOutputStream(echoSocket.getOutputStream());
4 os.writeBytes("reconnection\n");
5|

6]
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4.3 Authentication

Root NodeOO DO ODOOODO VNCOODOODODOOOODOODOODODOOOOOO
00000000 b00o0obO0o0obOdUd Root NodeUODOOODODOOODDOOODOOODOO
O00Db0OD0O000000b0oDOoooboOob0ob0ObObDRoot NodeD OO ODOOO
gdodoooooooobobobbbobbbbbbbbidododoooooooo
O0bD0o0bD0o0ooooobooobobog 3033800 00n0n0d TreeVNCO
385000 0000O000O0O0O0OMO 3850000 TreeVNCOODOODOODODODOO

O00boo0o0ooooobooooobobo0ooD NedeDODOOOoooooooooog
gbobodbboogobboobbooboo3rgobbuoonobooobboog
O000b0o0o00bO0ob0obobogbodNodeOODOODODOOOODOODOODOODO
O0oobo0obobobobobobobOoboNode DD OOboobooboobOooO
gobbbouogoobbobouooooo

O000000000000000000000O0 (0 450000000000

O 4.5: AuthType

o (oo

0 | Invalid

2 | None

5 | RA2

18 | TLS

21 MD5 000000

MAC OS X SnowLeopard OO0 OO0 OO0 VNCOOOOOOODOOODO MACODO
gobooo3sbobuogggbobobuooobobooooboobod

O00 MACOSX LionODOOOOODOOOOOOOODOMACOS X LionOOO
gobbbooooobobooooboboooobbbuoooobbbooon

000000 MACOSXOOOODOOOOODOO [30,31,32,2,35| 000032000
goddoooooobobbobbbbbbobobbbbbbbbbuooooooon
0000000000 Root NodeUODOODOODOOODOOODODOOOOODODODOODO
gobboooobbbooobbobooon
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4.4 Broadcast [ Multicast

O00000000DOBroadecast 100D 0D0OD0OD0OODOOOOOOOOOOOOOOO
64000byte 00D 0000 OOO0OO0OOOODO1920% 108000 000000000000
0000 6000 byte(1920*1080*3) 0 0 0000 00D0O0OOOOOO0OO0OOOOOOO
O0000000e64000byte0 000D O000OOODODOOOODODODO
0000 TreeVNCOUOOODDODOOOODOOOOODOOOO Root NodeOODODOOO
O00000O0ONoedeDOOOOODOOOOOODOOOOOOO
O0000000 RawData OO ODDODODOOOODODOOOODODOOOODODTreeVNCOO
ZRLEC00000000O0D00000000O00000000000000000 64*%64
000000 RawDataO OO O
00000 RawDataO O 430000

64byte
64byte 1 2 3 4
5 6 7 8

O 4.3: RawDataO OO

O0000000003300002000000000000000000000 (List-
ing4.2)0
gogdbbooooobbobuooooouobbobobbbouooooooouonboa
goooo
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Listing 4.2 DO0O0OOO0OOODOOOOOOO

LinkedList<ByteBuffer> output = new LinkedList<ByteBuffer>();
int width = header.getShort(8);

int height = header.getShort(10);

int y = header.getShort(6);

int dataLen = width % 64 % 3 * 2;

int temp = 0;

int count = height / 128;

0 N O Ut W N

©

if (width \% 64 ==
dataLen += (width / 64) x 2;
else
dataLen += (((width / 64) + 1) * 2);

— e e e
B W = O

for (int i = 0; i < count; i++) {

15 int tempDatalen = dataLen — temp;
16
17 while (tempDatalen > INFLATE_BUFSIZE) {

18 output.addLast(input.poll());

19 tempDatalLen —= INFLATE_BUFSIZE;

20

21 if (tempDataLen == INFLATE_BUFSIZE) {

22 output.addLast(input.poll());

23 createHeader(header, i, height, y);

24 zipSplitData(header, output);

25 output.clear();

2 temp = INFLATE_BUFSIZE;

27 } else {

28 ByteBuffer tempBuf = input.poll();

29

30 ByteBuffer bufl = ByteBuffer.allocate(INFLATE_BUFSIZE);
31 if(tempBuf.remaining() >tempDataLen)

32 tempBuf.get(bufl.array(), 0, tempDataLen);

33 bufl.limit(tempDatalLen);

34 output.addLast(bufl);

35 createHeader(header, i, height, y);

36 zipSplitData(header, output);

37 output.clear();

38

39 bufl = ByteBuffer.allocate(INFLATE_BUFSIZE);
40 tempBuf.get(bufl.array(), 0, tempBuf.remaining());
41

42 bufl.limit(INFLATE_BUFSIZE — tempDatalLen);
43 output.addLast(bufl);

44 temp = INFLATE_BUFSIZE — tempDatalen;

45 }

Broadcast 0 Multicast 0 00000000000 O0OO0ODOOO0ODOOOOO
Broadcast 0 Multicast 00O 0OO00OOO byted O 100packet OO OOODOOOO0O
ooooooogd44enOnO
046000000 Multicast 000 OO 4000byte O 100packet 00000 37%0 000
Oo0Ooooooog

000000000ooo00oooo0oobOoOoO0o0oooDooOoOoOOoO0UooDoOoDO
O00D00O00OBraodcast 0 Multicast 0O 00000 OCOOO0OOO0OOOODOOOOOOO
O00ooooooo
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O 4.6: Broadcast 0 Multicast O O O O

256hyte | 4000byte
Broadcasst 47% 87%
Multicast 0% 37%

4.5 OO00O0OO0OO0OOOOOOOO

Broadcast 0 0 O 0 TreeVNCO Root Node OOOUODODOOOOOOOOOO
Listing4.30 Broadcast 0 0 D000 00O0OOODOOOODOODOOOOO

Listing 4.3: Broadcast UO DO OO 0ODOOOOOODOO

public GetHostClient(String _str) {
str = _str;

}

public void sendData() {
buf = str.getBytes();
DatagramPacket sendPacket = new DatagramPacket(buf, str.length(), mAddr, PORT);
try
sog .send (sendPacket);
10 } catch (IOException e) {
11 e.printStackTrace();
12 }
13}

0 N O Ut W N

©

Listing4.3 O O Broadcast Packet U0 OO DO O0O0OO0OOO IPODODODOOOO O Reply-
BroadCast() DO OO TCPOOODODOOOOOOOOODOOOOO VNCServer OO O
000

Listing 4.4: Broadcast 0 0 0 OO 0OOOOO

1| byte[] buf = new byte[BufSize];

2| byte[] resorve = new byte[BufSize];

3 try {

4 InetAddress mAddr = InetAddress.getByName(McastAddr);

5/ MulticastSocket soc = new MulticastSocket(Port);

6| DatagramPacket recvPacket = new DatagramPacket(buf, BufSize);
71 soc.joinGroup(mAddr);

g/ while (IstopFlag) {

9 soc.receive(recvPacket);

10 address = getAddress(recvPacket.getSocket Address());

11 inputStream = new ByteArrayInputStream(recvPacket.getData());

12 inputStream.read(resorve);
13 if(str.equals(castString(resorve)))
14 replyBroadCast();

15 if(stopFlag) break;
16| } catch (IOException e) {
17 e.printStackTrace();

19| }

Listing4.3 0 0 Root Node DO O ODOOO VNCServer OO OD0OO0OO0O0OODOODOODO
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O0000000D0textOOjavald GUIDODOODODOODO JFrameOOOOOODO
gobbobouooooboo

Listing 4.5: 000000000 DOOOOOOOO

Socket socket = server.accept();

is = new BufferedReader(new InputStreamReader(
socket.getInputStream()));

proxyAddr = is.readLine();

if(proxyAddr!=null)

text.checkBox (proxyAddr);

text.setButton();

text.visible();

0 N O Ut W N
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00000000000 TreeVNCOODOOODOOOODOOODOOO

5.1 UIOOO

TreeVNCOUODOUODOOOOOOOODODODODOOOOODOODOODODODOO

5.1.1 0000000

gbobdoobobobobooboboboboboboooobobobobob
gboobobobbobogbdogbobobobbobuooboobobboobooabg

5.1.2 0000000

gbbogodbooobuoobbodobuoobobuoobobodobbooboobbda
gbboogbogobuoobbooboobboboguobobooboboobood
gbbogoobodoboobboobuoobboobodobbobbooboobbod
gbboboogoboobbooboooboobboobobooboonooboon
gobbbooobobbooooobn

5.2 UUOUOULOUOuboouoood

gbbgbuogbbuodgbboobobuoobboobbooboooboobboad
gbboogoboboooobuoobbooboobbuoobobbodooboobobon
O0000Db0ob000b00OdOQuened 0000000 OODOODOOODOOODOODODO
gobboboooobobogo

5.3 UUOOOOODOOOOOO

TreeVNCOOOUOODOODODO NodeOODODOODOODODOOOODDOODODOOO
000000000 0bO0b0boO0b0b0o0ooOO00oDO0bOb0OoDO0bbOODOn NodeO O
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gbbodgbbogbbobobbuobobbuoobboobbuogobooobood
gbbodgboobobuoobbuoobbodobobobbobooboobbobood
Uboooooooobd NedeDOOOOOooooboboobobooboboboo
gobbboodobbbooodobbbbooodobbbodoo
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6.1 U0O0OO

TreeVNCOODODOOOOODOODOODODOOOODOODODODOODOODOOO
gobbbooodgbbbooodabbbod
ooooooboboboooooSObOobOUooobUobobooooooDoobDOoDbDOobDO
gbgoboboobodeldbOO

0 61: 0000000 VMWareO OO OGO QOO

0o [ 0o
CPU Intel(R) Xeon(R) CPU X5650@2.67GHz
ogoooo 2
ogoooo 4
ceunooonono 12MB
Memory 8GB
0OS CentOS 5.8
HyperVisor VMWare ESXi

6.1.1 CUI Version [

TreeVNC O GUI(Graphical User Interface) 0000 0000000000000 0O0O
00000 CUI(Character User Interface) 00 000000000000 OOOOOO
HEN
O00O0TreeVNCOO GUIDODODODOOOOODODOOOOCUIOODOOOODODO
gobbbooooobobuoooobobooon
Listing3.10 TreeVNCO Main 0 OO OOO0O0O0OO0DOCOOO0OODOO JAppletOOGUI
g0b0o0ooO0o0ooobooboobooboooooobo culboobooooooobooo
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culoDoDoboooOo JAppletD00D0DOODOODOOOOODOODOODOODOODOOADO List-
ing6.20000 Viewer U100 0O0O0O0O0OO0OODO0OOODO CUID GUIDOOOODOOOO
goodooooo

O000000000CUIO GUIO OO Interface(Listing6.3) 0 0 O 0 0O O Interface O
ggooooooooon

Listing 6.1: TreeVNC O MainClass

1| public class Viewer extends JApplet implements Runnable, WindowListener
2
3 final ConnectionView connectionView = new ConnectionView(Viewer.this,
4 connectionPresenter, hasJsch);
i}

Listing 6.2: Viewer 0 0 0O 0O O
1| public SwingViewerWindowFactory(boolean isSeparateFrame, boolean isApplet, Viewer viewer)
2 |
3
{4}

Listing 6.3: ViewerImpl

1| public interface Viewerlmpl
2
3 public boolean getCuiVersion();
4 public MyRfbProto getRfb();
5 public void closeApp();
6 public void run();
1}

6.1.2 capistrano

O00000D00480000000 CUIDDO TreeVNCOUODODOODOODOODOOO
gbbooodboobbuooboboobobuodobbobobuoobobbooboobobod
gbobbboogdbUlecapistranoJ 000000000 OOO0O0OODOOO0O0OOOOU
capistranoU U U U0DOOO0OO0OOO0OOOO0OOOOODLDOOO0OO0ODbOOObbOO0n
UbO000ORubydoooooooooog

capistrano 0 0 00000 ODOO0O0OODODOO Listing6.40 000
00000 Listinge.bU 00O O0DOUOOOOODOOOOO

Listing 6.4: cap.rb

set :user, "mass" 000 OO0O0O//
role :pall, "133.13.62.1" 00000000000 OOOOOOO)//
task :ls do // O task

run "ls,-la" // 0000000
end

N O U s W N

gboobbooboobboobooboo 36



@DDDDDDDDDDD(DD) 060 DOO0OOOOOOO TreeVNCODOO

Listing 6.5: capistrano [J 0 [

1’[ % cap —f cap.rb Is

6.2 O0OOOOOOOO

TreeVNCOUODODOOODODODODOODODOOODODOODODO
gbboogobuogbobboobboobobuoobbooboobbooboobobod
gobbboooobbobuooouobobboooooboboooobbobooon

6.2.1 0O0OOOOOO

RbOoOooooOOOoOooOooooDoOOoOoooobOboooooobooooooooboooooDo
goboooog
ge20000000000000000O0OO
0000 11(CheckDelay) 00D OO0 O0O00O0O0OODODOOOOOOOO

O 6.2 RtbOODODOODOOOOOOODOODOODO

gooo 00 00
0 FrameBufferUpdate ogoooooo
SetColourMapEntries | D 000000 OO0 OO Colour Map O 0O O
2 Bell oooood
11 CheckDelay 00000000 Delay D O O

Listing6.60Listing6.70 0 00000000000 0ODOOOORoot Noded System.currentTimeMill
000000000 0O0NoedeOOODOOO
System.current TimeMillis() D D 0000000000000 Olong0 00000000
ooooboooo
NodeOODOOODODOOOOOODOOODOOOOOODOOODO
Root Node OO DODODODOOOOOOOOOOODODO System.currentTimeMillis() 0 00O
000000 DelayO OO0 O0O0oooooooooobosobboDobObOODOD 100000

Listing 6.6: D OO O0O0O0OOOO
1| BufferedReader is = new BufferedReader(new InputStreamReader(echoSocket.getInputStream()))

2 DatabutputStream os = new DataOutputStream(echoSocket.getOutputStream());
os.writeBytes("checkdelay\n");
4]  os.writeBytes(String.valueOf(buf.getLong(16))+"\n");

w
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Listing 6.7: DO ODOO0ODOOOO

1| Long delay = System.currentTimeMillis()—Long.parseLong(is.readLine());

6.2.2 0UUOOOOO

2000000000000Nede0 800000060000
Root Node OO ODODOOODOOODO 4Q000000Root NodeODOUODOO NodeO O
gobobooogbbbuooobbod
630000200000 b0bboooobbouoonooood

Ue63:000gaobon

oo | 00

2 01000
4 | o000
6 ||0139000

goooooovMOOobooooooobooobooboboobooooboooo
gobooooboboooooStObobouooobobooobooooboboboooboog
OSO0OD0 25Node D0 OD0O0ODOODOOODOODOSODOOODOODOODOSOODO 4800
gobbbuoooobbobouoooobo

6.3 UOOOOOO

0000 TmeOwtOOOOOODOOOODOOOOOODOOOODO
000000000000 00000D0D0O00D00O0D0oUODooOoooOoooOg (List-
ing6.8) 000000 NodeJOOOOODOODOOODODOODOODODODDOOODODOODOOOO
O000000000ONodeOOODODOODOODO Listing6900O0O0OODOOOO Root
NodeOOODODOOOOOODOOOOOODOODOO checkCounter0 OO OOOOO
gobboobouoooobbboooobobobooodon

Listing 6.8: 0000000000 (Root NodeO )

ByteBuffer serialNum = ByteBuffer.allocate(8);
serialNum.putLong(counter++);
serialNum.flip();

bufs.addFirst(serialNum);
multicastqueue.put(bufs);

s W N
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Listing 6.9: 00000000000 (NodeO)

private void getLost(Reader reader)

{

1
2
3 try

a4 A

5 long num = reader.readInt64();

6 if(num != ++checkCounter) {

7 System.out.println("LostData: "+ (num — checkCounter));
8 checkCounter = num;

10 } catch (TransportException e) {
11 e.printStackTrace();

13}

D000D0000o062000000000000000D000O0O TimeOut Thread O
O00O0OONodeODOOOOODODOODDOOOOODODOODDODOODOOODODODOOOO
gooo
0000006000 NodeOODODOOOOOOOODODOODOODDODOODODOOOOOO
gobobboooooobobogo
0000000000000 00000D00OO0DO Root NodeOODODOOODDOOOOO
0000 Root Node d MemoryOverFlow D00 00000000000 OOOOOOO
(1920*1080) O O O MemoryOverFlow O D OO OO0 OOO0OOOORetinad 000000
O0000000O0DO0ODO0ODOO0DOO0ob000b0OnMemoryOverFlowDOOOGODOODO
O00TimeOwt DO O OOODOOOOOOOOO

6.4 0O0O0OOOO

gooboobOoboboooooboobOobobOoboooocptobobOobDOooOoO
O000o00bo0obo0oboboOUONedeOODOOOOOOODOOOODOOOODO
gbbodbbogboooboooobobuoobbuoooobobdgebboobood
0000139000 (0.1390)00000000000000000O0O0O0O0OOOOO
gbodbogobogbobuoobooboobbuoobbobobuoobboobood
gbogdgobogblooobboobbobbogbuobboobbobboobuoobobo
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6.5 ZRLEUO ZRLEEUOOUOUOOOOOOO

OOD0O TreeVNCOOOODOO VNCOODOODODODODOODODOOOODOODOOO
gbooobobobOoZRLEEODODO0ODO0ODOODOO
U0 ZRLEOOODODODD ZRLEEOUOOODOODDOOOOOOoooooobobood
00000 ZRLEEODDODUODODODODODOODOOOODODODLOOOODUOODUODOUOZRLEED ZRLE
O0b0o0obo0ooO0boo0obo0opoDOoboo0ooOobDOobooOOobDobobOooOoD RAWOO
0,Zib000000000 ZRLEEDZRLEOODODDODOOODODOOOODODO 60 1920 *
wooogooobogoobbooooboobbbooobbbO0O0ZRLEED DO
O00000000000000 (0D6.)OODOOOZRLE(ZIb)OOODODODOODOOODOO
oobooboooboboooboooobooooboooobooboOoooo yvNCcOD
U0 ZRLEEOOOOOOOOODOOOOoOOobOOooobobobooobobobooboo
gobbooogboo

compare number of each encoding bytes

9000
8000 r
7000 r
6000
5000 r
4000 r
3000 r

number of bytes (KBytes)

2000
1000 r

number of pixels (KPixels)

0 6.1: RAWZRLE,ZRLEEO OO 100 (1920%1080) 0 0 00 0000000x000O
gboobyoboobooobooboo
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6.6 VNC Reflector 1 [

TreeVNCOOUODOOVne Reflector DO OO0 O0OOO00OOOOOOOO VM4ASOOODO
O0OBladeOOODOOO TreeVNCO Vnc Reflector DO O OO0 PCODOOOVM48O O
O00000D000000000Db000 Vone Reflector 048000 0000O00OOMO
0000 2MBpsO O 5KBps OO OODOO0OO0OOOOTreeVNCOOODOODODOO 4800
OOoooobOobog2MBpsOODOODOODOODODOODOODOODODOOOOOODO VNC
Reflector DO O OTreeVNCO 480000000000 0O0DOOOODO CPUDODOO Node
gbbooobuogbboouobobuodgbbogbobooobuoobboobooood
gobboboooobooo
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7.1 0O0OU

gbbodbbobuodobobbobboobboobooobooobobobobo
gboboogobuogbbooboobboobobbuooobboobooobuoobobon
O0O0o0ooOoOo0oDoOoO00DObO000oDObo00oDbO00b0bOOOvVNC ServerDOOO0O
O00000O0ODLO00O0000O00O00obOobDO TreeVNCODODODOODOODODODO
OO00000o00o0ob0b0ob0obOl Encoding 00O ZRLLEODOOODOODOOD
O000MulticastQuene D D D000 0ODO00ODOODOODOODOODOODODODODOODO
O0O0D0O0O0OTreeVNCOODOOODOODOOOODOOODOODOOOODDOOO
gbbodbbogbbogbbobuoobboooobbobobooobobood
O000000000000000000 Root NodeDOODOOO NodeDOODOOODO
0000 TimeOutThread DO DO OO0 OO0OOODOOODOOOOOODOOOOODOOO
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7.2 QJUOoon

7.2.1 iPad0O0OOOOO

Java6 0 OO OO0OO0O0O0O0O0O0O00OO Deflater 0 lushO0 OO0 00O TreeVNCO O O
00 Encodingd ZRLEEO OO OOUOOODOOOODOOOOZRLEEDOOOOOOOO
OVNCOOOOODODO decodeDOOODOOOODOOOOJavald0OODOOOO IPadO
000 TreeVNCOOUOOOOODOODODODOOOOOOJava7O 00O OO0O0O Deflater O
flushOOOOOOOOZRLEEOD ZRLEOODOOOOODODOOOO VNCO decode OO
Oo0oDoOoooooooo

7.2.2 Multicast [0 [

Broadcast 0 OO DO0OODDODOOODOOODODOOODODOOODODO Multicast OO
OD0000b0ooobOooooOOMulticast DD OO0O0D0DOOD0OOOOODOOODO
64000Byte 0000000000 O0OOODODOOO Blocking O 64000byte O O ByteBuffer
O00oboboooboobooooboboooobooooboon0od Buffer O wrap
gobbbooggoobobodgo
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U0O0dboodl Root NodeUDOUODODODOOOOOODOOOLOOODODDOODOODO
gobbooodgbbbodd
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